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Ans. =xy = x3/3 +C

a) (xz-y)d.x-xdy:O
b) y(x-2y)dx - xzdy =0
2 2
c) (x +y)dx +xydy =0
2 2 2 3
d)y (x"+y)dx + 2xydy =0 Ans. xy  + 2°/3 =C
e) (x +ycosx)dx + sinxdy = 0 Ans. <2+ 2y sinx =C
6
 a+ e? Ydp + 2pe28d6 =0 Ans. p(1 + 825) =C
g) dx - Va® - +* dy = 0
hy (2x+3y+4)dx + (3x+4y +5)dy = 0 Ans. x2+3xy+2y2+4x+5y=C
1) (4x5y5 + %)dx + (Sx“y2 - }l-)dy =0 Ans. x“y5 + In(x/y) = C
7 2(u2+ uv)du + (u2+v2)dv =0 Ans, 2u5 + 30y + u5 =C
k) (x 1/xz+ y2 - y)dx + (y ]/x2+y2 - x)dy =0 Ans, (x2+_y2)5/2 -3xy =C
Iy (x+y+1)dx - (x-y-3)dy =0
m) (x+y+1)dx - (y—x+3)dy =0 Ans. x2+2xy-y2+2x——6y=C
n) csc 6 tan 8 dr - (r csc 8 + tan"’@)dﬁ =0 Ans. r cscB = lnsecB + C
2 Yy 1 _ x+y 2 _
0) (y e +2)dx+[x+y+2y(x+1)]dy-0 Ans. In —= + @+1)(y +2) = C
x2y 2 xy2 2 x2y xy2 x2y xy2 2
p)  (2xye +ye + 1dx + (x"e +2xye ~ -=2y)dy =0 Ans. e + e + x=-y =C
- =
WS o 1y 0T Lo ol 1y o5 SVslae 51K a5l IS ole -2
,a) xdx + ydy = (x2+y2)dx Ans., 1/(x2+y2) H x2+y2 = Ce2x
by (2y-3x)dx + xdy = 0 Ans. Xy=% +C
c) (x-yz)dx+2xyd_y= 0 Ans., 2; y2+x In x = Cx
d) xdy - ydx = 3x2(x2+ yz)dx Ans. 1/(x2+y2); arc tan y/x = 2+ C
e) ydx —xdy + Inx dx =0 Ans. 1/x2; y +1Inx + 1 =0Cx
fy @ +y*)de - 2xydy =0 Ans., ST VL
£) (xy-2y2)dx - (x2—3xy)dy =0 Ans. 1/xy2; x/y + ln(yB/xz) =C
h)y (x+y)dx - (x-y)dy =0 Ans. 1/(x2+y2); x2+y2 = Ce? ¥ %
1) 2ydx - 3xy2dx -xdy =0 Ans. x/yz; x2/y - =C
J) ydx + x(x2y—1)dy =0 Ans. y/xs; 3y2 - szys = Cx?
k) ()’*xs)’*“zxz)dx + (x+ 4xy“+ 8y5)dy =0 Ans. 1/(xy+2); ln(xy+2)5 20y By“ =C
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a) xdy - ydx = x'e’dx Ans. y = Cx + xe”

b) (1+y2)dx = (x+x2)dy Ans. arc tany = 1ln x/(x +1) + C
c) (2y-x5)dx +xdy =0 Ans. x2y - x5,/5 = C

d) yzdy+ydx-xdy=0 Ans. y2+x=Cy

e) (3y5-x_‘y)dx - (x2+ 6xy2)dy =0 Ans. 3y2 + x In(xy) = Cx

£) 32%y%dx + 4(x°y-3)dy = 0 Ans. 0y — 4y’ =C

&) y@x+yds - xdy =0 Ans. x/y + Inx = C

h) (2y+3xy2)dx + (x+2x2y)dy =0 Ans. xzy(1+xy) =C

1) y(y2-2x2)dx + x(2y2—x2)dy =0 Ans. x2y2(y2_x2) =C

(J5 55 o OVl J= 1) 55 Jedl 25 SYslae -4

a) dy/dx +y =2+ 2 k) y(+yhydx = 2(1- 2y )dy
by dp/dB + 3p =2 b yy' - xy2 +2 =0
o) dy/dx -y = xy’ m xdy-yde = x/x"-y% dy
d) xdy-2ydx = (x-2)e’dx n) by(ty dx/dt + xda(t) = 1
e) di/dt - 61 = 10 sin 2t 0) 2dx/dy - x/y + x> cos y =20
H d)’/dx“)’=y2€x p) xy' = y(l-xtanx) + 2% cos x
g) ydx + (xy+x-3y)dy =0 q) (2+y2)dx- (xy+2y+y5)d)’=0
Ry (2s-e?"yds = 2(se2t- cos 2t)dt r)y (1+y2)dx = (arc tan y - x)dy
1) xdy + ydx = x5y6dx s) (2xy5-y)dx +2xdy =0
Jj) dr + (2r cot 8 + sin 26)dB = 0 t) (1+sin y)dx = [2y cosy - x(secy + tan y)ldy
B Sl
a) y; LF., e y=2 +Ce” e) 1; L.F., e-(’t; 1= - $(3 sin 2t + cos 2t) + Ce®
by o LF., 7 3p =2+ Ce™3? g) % LF., ye'5 xy = 3(y-1) + Ce™”
d) y, ILF., 1/x2; y = "+t jy i LF., sin26; 2r sin’ @ + sin' 8 = C
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k) =x; IL.P., (1+y2)2; (1+y2)2x = 2 1ny+y2 + C
n) x;, ILPF, efd)?(t)dt/qbl(t)‘. xefd)z(t)dt/d)l(t) = f—-—l ef¢2(t)dt/¢1(t) dt + C
®a(t)
) . LF 1 : -xzcosx+Cxcos
proye e rees it YT x
@) x; LF., 1024y, x =24+ 352+ CV2+y°
ry =x; LF., earc tany; x = arc tany - 1 + Ce—arc tany
t)y x; I.P., secy+tany; x(secy + tany) =y2+ C
Pl
-1 -x 2 2 2
¢) y =wv, 1/y = 1-x+Ce ) y“=v;, y =1+Ce
-1 x -2 -2 :
f) ¥y =v, (C+x)ye +1=0 0) x =uv, x y=cosy +ysiny +C
oy = 2y =0 4 s s) y = 3x? = @0y
oile Sb Olg>
2 2t . : \
hy s° -~ se” + sin 2t =C m) y =x sin(y + C)
LS =1y g5 el s SYslas -5
a) < cosy % = 2x siny -~ 1, using siny = z, Ans. 3x siny = cxd i1
b) 4x2yy’ = 3x(3y2+2) + 2(3y2+2)3, using 3y2+2 =2z, Ans. 4x9 = (C-3x8)(3y2+2)2
c) (xys—ys—x2ex)dx + 3xy2dy = (0, using _)'5 = VX, Ans. 2ysex = xe?” 4 Cx
2
d) dy/dx + x(x+y) = xs(x +y)5 -1, Ans. 1/(x er)2 = x2+1+_Cex
e) (yrel—e “ydx + (1+e)dy = 0. Ans. y +e’ = (x+Cle *
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